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CERTIFICATE IN TELECENTRE/VILLAGE 
KNOWLEDGE CENTRE MANAGEMENT 

(CTVM) 

Term-End Examination 

December, 2013 

OXE-023 : CONTENT AND SERVICES IN 
TELECENTRE 

OXE-024 : PROMOTING YOUR TELECENTRE 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) Attempt all sections A, B and C as per direction 

given in each section. 

(ii) Marks for each section are indicated against it. 

(iii) Answers should be brief and to the point. 

SECTION - A 
(Choose the best answer.) 

Answer all questions, each question carries 
2 marks : 	 10x2=20 

1. Which of the following is a processing device ? 
(a) Printer 	(b) Monitor 
(c) Mother board (d) Speaker 

2. Which among the following is an input device ? 
(a) Scanner 	(b) Monitor 
(c) Speaker 	(d) Printer 

3. Telecentre brings knowledge and technology 
to urban community only. 
(a) True 	(b) False 
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4. 	Telecentre can be Procurement point for global 
business. 
(a) True 	(b) False 

5. Which of the following reasons make women 
hesitant to come to the telecentre ? 
(a) Telecentre listens to women's needs 
(b) Most telecentre staff are men 
(c) Telecentre provides adult literacy 

programmes 
(d) Telecentre provides skill development 

	

6. 	Chose the dynamic information from among 
the following 
(a) Soil Condition 
(b) Agriculture Information 
(c) Job vacancies 
(d) Vocational courses 

	

7. 	Which among the following does not come 
under disseminating information 
(a) Internet service 
(b) Community news paper 
(c) Processing information 
(d) Community Radio 

	

8. 	Which among the following is not the function 
of an informatic system. 
(a) storing 
(b) retrieving 
(c) manipulating 
(d) application of technology 

	

9. 	Which among the following is the largest 
computer ? 
(a) Laptop 
(b) Main frame computer 
(c) Super computer 
(d) Personal computer 
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10. Which among the following is not an element of 
measurement evaluation 

(a) Relevant 	(b) Specific 

(c) Participatory (d) Measurable 

SECTION - B 	 6x5=30 
(Short Answer) 

(i) Attempt five questions choosing at least two 
from part - I and part - II. 

(ii) Each question carries 6 marks. 

PART - I 

11. Briefly describe any three of the internet resources ? 

12. What do you mean by computer maintenance ? 
Briefly mention any two hardware related 
maintenance. 

13. Explain briefly the concept and model of 
healthcare services (telemedicine) through a 
telecentre. 

14. What is BPO ? Mention three types of services that 
a telecentre can offer as a rural BPO. 

PART - II 

15. Briefly explain how you identify the community 
information needs ? 

16. Which are the steps to be followed for preparing 
a good market plan ? 
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17. What are the factors affecting the rural consumer 
behaviour 

18. What is the basic difference between monitoring 
and evaluation ? 

SECTION - C 

(Essays) 	 25x2=50 
Answer two questions, each carries 25 marks 

19. (a) In your own words describe in detail how 
you introduce a computer, its parts its 
working to a rural community 

OR 

(b) "Establishing a telecentre in a community 
makes a lot of difference in the dynamics of 
community life". What is your opinion ? 
Explain with examples. 

20. (a) "A successful telecentre manager is one who 
knows the aspects of information 
management". Do you agree ? Give reasons 
with examples. 

OR 

(b) Describe some of the innovative telecentre 
promotional methods with examples. 
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